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Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted question.

HAferemirsn TE T TA B B TAH Bl TAF W 3 () 3t H B
TR et IR & 30 O 3% F1eT ST WoE A9 W W
Wi ¥ ]

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

IR T s ST el S % Fne Wiie o, A Fepean wd s e
(3) This paper comprises of three sections.

g YI9S T TSt &7 2

3 P.T.O.



10U/115/24(i)

SECTION -1
Tug - I
CHEMISTRY

(Marks : 150}

01. Assertion, A : HCOOH is about ten times stronger than CH,COOH while
CH,CH,COOH containing a larger alkyl group is weaker than CH,COCH.

Reasoning, R : Electron-releasing alkyl groups weaken acids.

(1} A as well as R is correct and R is the correct explanation of A.

(2} A as well as R is correct but R is not the correct explanation of A.

(8) Aistrue but R is false.

(4) A andR, both are false,

Assertion (F9T) A : HCOOH I @l CH,COOH ¥ T8-THI 3% ¥ Safh
CH,CH,COOH ¥ 981 TeiEel 9 8F % %R CH,COOH I #H § |

Reasoning ( FRUT) R : RRH-Fie T o6 ToRe 70 e A dm +n + A ¥ |
(1) AR IFEIMAFRUR SHa0E )

) ARRINATE kA ¥R S FROTE |

3) ATIERgREE

(4) AMMRINTRE

02. Which of the following is correct ?
(1) 2CHCL, + Ag powder (warmed) —» CH = CH + 6 AgCl
{2) CHCL, {on reduction with Zn & water) — C,H,
(3} CHCL, {on reduction with Zn & HCl in C,H.OH) —» CH,(l,
(4} CHCl, +Cl, —» CCl, + HCI

AT WENE?

(1) 2CHCL, + Ag T (M &AR) — CH = CH + 6 AgCl

(2) CHCL, (Zn 7 9 % 99 Re®W) — C,H,

(3) CHCL, (C,H.OH % Zn 79 HCl % 3 fleam) — CH,Cl,
(4 CHCL, + Cl, — CCl, + HC
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03. Which of the following is the incorrect name in IUPAC nomenclature system?

(1} CH,~CH,-CH,-NO, 1-Nitropropane
CH, - (I:H ~-CH,
(2) NO, 2-Nitropropane
(3) CH,-CH,-NO, Nitropropane
(4) CH,-NO, Nitromethane
IUPAC T # iR Ry gudfms man e el T éi & 2
(1 CH,~CH,~CH,-NO, 1- A
CH, - ?I—I ~CH,

@) NO, PR o
(3) CH,-CH,-NO, ARSI
(4) CH-NO, TEERRA

04. Which of the following is the incorrect match ?
(1) Analgesics Aspirin
{2) Antipyretics Analgin
(3) Antibiotics Amoxicillin
(4) Disinfectants Streptomycin
FHATN WA A ?
(1) TR T
2 WS LCRITES
3) UEmefes iRt
4) Rurc_AmuEm TEmERE

5 P.T.O.



10U/ 115/24(i)

05. Which of the following statements is incorrect ?
(1} Analgesics are used for relieving pains in the body.
(2) Antipyretics are used for relieving pains in the body.
(3) antibiotics are used for inhibiting growth—/destroying-micro—organ-
isms.
{4) Antimalarial medicines are used for killing Plasmodium

FHYIA TR S ?

(1) TR, W e (S e % R sadm 2 )
2) TR, TR E T (fen) QW H T s g |
(3) Warifes, gl arA F o SHEm AR R |

@) TR, AT ¥ T ¥ R sEm |

06. Which of the following is incorrect for dyes ?
(1) Indigo is a vat dye, which is soluble in water.
(2) Methyl orange is an azo dye and is acidic in nature.
(3) Alizarin is an anthraquinone dye.
(4) Aniline yellow is also an azo dye and can dye polyesters.

AHI T SRI S TR T 2

(1) TN 92 o6 T T H gord €

(2) R ST O ISR § 7 AT wvE ¥ ufiies @
(3) TASRA TF e = #

(@) fret-el 1 F T oE T M el @ o #

07. The correct reactivity order for reactions involving cleavage of R~OH bond
in primary, secondary, and tertiary alcohols is shown by :

(1} Primary > secondary > tertiary (2) Secondary > tertiary > primary
(3) Tertiary <primary < secondary (4) primary < secondary < tertiary
i Forget s, s, 7 TS e $ R-OH 918 3TeRT BT 2 ST T4

FITUFEHE
(1) e > s > gas 2 B> gdies > ok
(3) TEH < W < i (@) TR < BfE < I
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08. Which is the correct match for the following ?

Acidic Basic
(1) R-OH & C,H.~COOH H-OH & R-NH,
(2) R-OH&R,-NH R,-NH & C,H,-OH
(3) R-OH & C,H,~COOH R-OH & R-NH,
(4) R-COOH & C,H.-OH R-NH,, R-NH & RN
AR mad T ?

It qfafes (Acidic ) @ /At ( Basic )

() R-OH 3 C H-COOH H-OH 3R R-NH,
(2) R-OH 3RR,-NH R,-NH #R C,H,-OH
(3) R-OH 3RC_H.-COOH R-OH 3R R-NH,
(4) R-COOH 3R C,H.-OH R-NH,, R-NH 3R RN

(1)

Which one of the following is incorrect for ether ?

Ether is a polar molecule as C — O - C bond angle is 110°

(2) Ethers are insoluble in water since they can neither form their own
nor can break H-bonds of water molecules.

{3) Boiling point of ether is lower than its isomeric alcohol.

{4) Boiling point of ether is higher than its isomeric alcohol

FAITT MRS U T R 2

(1) MG AYLTRAFEC-0-C FACTIM110°2 |

(2) TR IR o € w6 A T S H-aeveie S T8 IR Y Bt
< 1 A T ¥

(3) T H T INF TN R o FH o &

(@) I H TS IF THETN WHRia § it o 8

7 P.T.O.
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10.

11.

Which of the following is incorrect match for the functional group, name of
compound, and their general formula ?

Functional group name of compound general formula

SV (lil o aldehydes RCHO

@ &(I)_ Ol carboxylic acids RCOOH

@ E:I)_ ketones RCOR

G (I(:I) ) ethers RCOR
ﬁwgmmw,ﬁﬁﬁww@ﬁww%wﬁaﬁqmﬂzw
gﬁ.w A & W AAA-GA

1 g _o USRS RCHO

@ E_ OH FERiiEs e RCOOH

3 E_ Eooin] RCOR

@ (lij_ ™ RCOR

Which of the following is incorrect ?

(1)

(2)
(3)
(4)

The order of reactivity of the carbonations is : Primary > Secondary >
Tertiary

The order of relative stabilities is : Primary < Secondary < Tertiary
The order of relative stabilities is : Primary > Secondary > Tertiary

The order of reactivity of the carbonations is : Tertiary < Secondary <
Primary
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AR WA S ?

(1) PERTR 9t TRbF ama & w9 39 R R v > Bl > wes
(2) ST TR T T VR & : e < Bies < g

(3) RS TR R T ¢ : M > s > gl

(4) FERRE 9 TR ama W T TR T WS < s < mefteE

Assertion, A : Dextro-and laevo-varieties of tartaric acid are optically ac-
tive while meso—form is inactive.

Reasoning, R : Asymmetric carbon atom is only present in the dextro-
variety

(1) A and R both are correct and R is the correct explanation of A.

(2) A and R both, are correct but R is not the correct explanation of A.
3) Ais true but R is false.

{4) Ais incorrect while R is true.

Assertion (F9%) A : RS e H T v AI-FFA gav-iE oK € afn
Ta-fem FiFT e R

Reasoning ( ®RUT) R : ¥ael J2-frer § srgufid e a1y SR 3 g |

(1) ARRIMIFEMAFRUR SFIROE |

) AIRJNIFTMNA SRR IFTFRORE |

B ATIRFFIREE

4 ATeERTINR TR

Which of the following is incorrect for antioxidants ?

(1)  Ascorbic acid (2) Vitamin E

(3) Vitamin D (4) Butylated hydroxyanisole
FH Y B o Weiie ¥ wf o § 2

(1) UwwEs s @) RefFE

@ fefmD @ =ERRs el

9 P.T.O.
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14.

15.

16.

17.

Which of the following is simple ether ?

(1) C,H,OCH, (2) CH,OCH,
(3) C,H,OC,H, (4) C,H.OCH,
T ¥ Y S R 3 R ?

(1) C,H,OCH, (2) CH,OCH,
(3) C,H,OC,H, (4) C,H,OCH,

What is obtained by the hydrolysis of starch ?

(1) Glucose (2) Fructose
(3) Glucose & fructose (4) Sucrose
N W TR & = e 2 2

(1) R 2) TERN
(@) T i FR “@ T

Atomic weights of H, He, O & Cl are 1, 4, 16 & 35.5 respectively. Which is
the correct decreasing order of gaseous molecular weight ?

(1) H,<He<O,<HCl<O, 2) H,<He<O,>HCl<O,

(3} He>H,<0O, <O, <HC] 4) He>H,<0,>0,;< HC]

H, He, O 3R C1 % RH-9 FAEER 1, 4, 16 3K 35.5 B1 79 3 72 59 & vl
TRHA T FIRATE ?

(1) H,<He<O,<HCI<O, (2) H,<He<O,>HCl<O,

(3) He>H,<0O, <0, <HC] (4) He>H,<0,>0,< HCl

Assertion, A : A solution of BaCl, will precipitate as BaSO, when mixed
with dilute H,SO,.

Reasoning, R : Provided the ionic product : [Ba?*][S0,%] exceeds its solubil-
ity product.

(1} A and R both are correct and R is the correct explanation of A.

(2} A and R both, are correct but R is not the correct explanation of A.

(3) A is incorrect while R is true.

(4 Aistrue but R is false.

10



18,

10U/ 115/24{i)

Assertion (FUT) A : BaCl, ® TF & 91 H,SO, % 9t § BaSO, 1 31481 3
Reasoning (®RUT) R : 37K THH 3T TOAE: [Ba*|[SO,?| 30% Torewa-
TOEe ¥ SfE RS R |

(1) ASRREIHENA SR SEFROE |

2) AIRRIFNIFENASTURITTOWEE

@) ATReR TR

@) ATIERFIRERI

Assertion, A : Basic radicals : Al**, Cr3*, and Fe® are precipitated as their
hydroxides by adding NH,OH in presence of NH,Cl.

Reasoning, R : [OH| decreases due to common ion effect. The ionic prod-
uct: [M**] [OB—]? decreases. But it sufficient to exceed solubility products of
M (OH), whose-Kﬁp being very low.

(1) A and R both are correct and R is the correct explanation of A.

(2) A and R both, are correct but R is not the correct explanation of A.
(3) Ais true but R is false.

(4) A is incorrect while R is true.

Assertion (I ) A : 35 FeTal : A%, Cr3* 3R Fe*F M(OH), F 8T TH
Rt § NH,C1 i Hig@il § NH,OH SR W |

Reasoning (®RUT) R : 7 TA-UME OH- FH # AT FH HX &

[M*] [OH-]? 1 3Tt ot & 2 e 81 R ol K 559 B 5 R0 301 IR

TOFEA M (OH), % Rrerm-Torwer & siftres 2 S 21
(1) A 3R R % ¥ 3 A ¥ fou R I FROE |
2) AMMRINIFEMAFRUR SFFROTEE
(3) ATIEHFGREBRI

(@) ATemRRR TR

11 P.T.O.
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19. Assertion, A : Heisenberg : Momentum and velocity cannot be measured
simultaneously.

Reasoning, R : Heisenberg's uncertainty relation : Axap > h/4n

(1) A and R both are correct and R is the correct explanation of A.

(2) A and R both, are correct but R is not the correct explanation of A.
{3) Ais true but R is false.

{4) A s incorrect while R is true.

Assertion (FIT) A : BESE: aﬁﬂméfr,w‘—lﬁm@rmm%l
Reasoning ( FRUT) R ; TR & o # RS ox . Ap = h/4n
(1) AMRRFAIFEINAFRER IFFOR )

@) AdRRFIFTEIA TR TSmO

3) ATIERFEREBRI

(4) ATEAR SRR TEH

20. Assertion, A : A bimolecular reaction may be first or second order reaction.

Reasoning, R : It depends on the dependence of rate of reaction upon the
power of initial concentration of reactant (s).

(1} A and R both are correct and R is the correct explanation of A.

(2} A and R both, are correct but R is not the correct explanation of A.
(3} Alis true but R is false.

(4} A is incorrect while R is true.

Assertion (T ) A : & Eers sfufea vom =1 e Sife i sirfen & vt
2

Reasoning ( FRUT) R : 78 FvR ot & i 0 @ AR $ TR T W&
vt R Foolar % 3w

(1) AMRIAIFTEIA SRR IFTIANE |
2) AMRRI;FIFTMASRUR IF IR
(3) ATIRFIREBEI

(4) ATCETIRRER

12
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Assertion, A : The order of acid strength : RCOOH > HOH > ROH > HC = CH
> NH, > RH.

Reasoning, R : The order of basic strength : RCOO™ < OH™ < RO~ < HC =C-
<NH, <R~

(1} A and R both are correct and R is the correct explanation of A.

(2} A and R both, are correct but R is not the correct explanation of A.

(3) Ais true but R is false.

(4} A is incorrect while R is true.

Assertion (T ) A : TSR &I 70T H1 569 : RCOOH > HOH > ROH > HC = CH
> NH, > RH.

Reasoning ( &RUT ) R : §RE A& | [AHFFA: RCOO- < OH- < RO"< HC=C"
<NH, <R.

(1] AFRRNMITEINRASTER ST

2} AR ITTNRASUR SE TR |

3) ATIERFgREBRI

@) ATEIEIRR TR

What will be the effect of aqueous solutions of potassium chiloride, copper
sulphate, and potassium carbonate separately on litmus paper ?

Potassium chloride Copper sulphate Sodium carbonate
(1) Blue turns red Red turns blue Blue turns red

{2) Nochange in colour Blue tums red Red turns blue

(3) No change in colour  No change in colour No change in colour
{4) Red turns blue Blue turns red Blue turns red

freag YR W GRRrH FINEE, R At 3K Qfeaw wEne & T 3 TE
BIe I T T 207 2

neHEm FHEs FW T wfeam FEte

(1) en ot B ST & e el B S & et T B S &

(2) 9 61 T T T w1t B S § e T B Y

(3) 9 & 7 T W T T e TEe T T el weor

(4) e e A S § < et B S & e T B A B

13 P.T.O.
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23. Which of the following is correct for transition metals ?

25.

26.

{1} Oxidation statesof Crare 3,6 & 7.

(2) 3d°4s! is the outer electronic configuration of chromium.
(3} 3d*4s? is the outer electronic configuration of chromium.
(4) 3d°4s? is the outer electronic configuration of copper.

g S RU ISR ad R ?

(1) Cr % sfadao Rafyamae 3, 6 37 ¥ |
(2) Cr ¥ &Y R e 3d%4s! € !

(3) Cr # &l PR 3d*4s2¢ |

(4) Cu o AEL FoELHR-RFI 3d%4s2 ¥ |

Blast furnace is employed in the metallurgy of

=E W T o Em A O SR ?
(1) Cu (2) Ag (3) Au (4) Fe

Which of the following statements is incorrect in respect of the oxidatio
states of Mn ?

(1) Mn has 4 in MnQ,, (2) Mnhas6inK,MnO,.
(3) Mnhas7inK,MnO,. (4) Mnhas 7 in KMnO,.
T3 W B W Mn # SIS % R Tew R 2

(1) MnO,¥Mn® 4% (2) K,MnO, ¥ Mn#6 %
B3) K,MnO, ¥ Mn#7% 4) KMnO,¥ Mn#7%

Assertion, A : 11— bond is formed by the orverlap of an s with p_ orbital.
Reasoning, R : Axial overlap takes place.

(1) A and R both are correct and R is the correct explanation of A.

{2) A and R both, are correct but R is not the correct explanation of A.
{3) Ais true but R is false.

{4) A and R both are incorrect.

14
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Assertion (FIT) A : TF s F p_&5F 5 WY AT Y i F70 B
Reamnhg(W)R:W@ﬂﬁqﬂm%'

(1) AMRRFIIEEdA SRR IFFTOE )

@) AMRMImEasla SRR ST s

3) ATuRFgRBRI

(4) ARRMTRR

Orbitals filled up to 3p, the next electron will enter into 3d orbital. This is in
(1) violation of 2n? rule

(2) wiolation of (n+l) rule

{3) accordance with (n+]) rule, 1 being the azimuthal quantum number
(4) accordance with 2n? rule, n being the principal quantum number

3p TS W AN F TIE INAT T0H 3d F STTm JE 2 -
(1) 2n2faedfms

2) @) Frew s s |

3)  (n+]) Fraw ¥ EER | wirgEe v Sem f)
(4) 2n?fEH ¥ TR, n T A VST E |

Assertion, A : Dipole moment is present in H,O as well as in CO,,
Reasoning, R : H,O is a linear molecule while CO, is non-linear.
(1) A and R both are correct and R is the correct explanation of A,
{2) A and R both, are correct but R is not the correct explanation of A.
{3) Ais true but Ris false.

(4} A and R both are false.

Assertion (FUT) A : H,0 Herim A R 3t CO, ¥ |

Reasoning ( ®NUT) R : H,0 & AR dielaga € Sl CO,, F-aiat 1
() ASRRINIFEMAFRUR SwEroTE |

2 AMRRFISHETNASFURSFFOTEL)

3) ATIRRFIREBRI

@) AIRIJiE?

15 P.T.O.
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29. Which one is incorrect in respect of diagonal relationship ?

31.

(1) Liwith Mg (2) Be with Al

3) B with Si (4) Nawith Ca
AT o sty R e &2

(1) LimMg® 9y 2) Be ®AlF WY
(3) BESiFHY 4 Na#lCadEY

Assertion, A : Graphite and diamond both are very hard.

Reasoning, R : Both have 3~dimensional structure,

(1} A and R both are correct and R is the correct explanation of A.

(2) A and R both, are correct but R is not the correct explanation of A,
() Aistrue but R is false.

{4) A and R both are incorrect.

Assertion (F97) A : Tege TR N T |
Reasoning (FRU) R : SHi ¥ 3-fnlw s 2 |

(1) ARRJNIFEIA SRR ST

2) AMRPFITEA SRR ITFROTE L
@) ATIRRGREBR!

4) A3IRR I TTEE

Which of the following statements is incorrect ?

(1) Atomic volume increases from He to Ar

{2) Electropositive character increases from Li to Cs.

{3) Valency of elements with respect to oxygen decrases from I to VII

group.

(4} Valency of elernents with respect to oxygen increases from I to VII
group.

AFAIA TR 2

(1) TRH-3TE He J Ar 95 51 &

(2) & PERI LI A Cs TH IR

(3)  iion % i el 3 ShaREEAS | Y VI 7Y 9% T )
(4) SIS S TR T R TR /AdE 1 Y VI I8 96 T 2

16
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Which of the following is incorrect ?

AA AT RS ?

(1) Sn+4HNO, (conc.)»H,5n0, + 4NO, + H,O

(2) CaSO,. % H,0O(s)— 390 k — CaSO,.2H,0(s)

(3) CaSO,.2H,O(s)— 390k — CaS0,. 2H,0(s) +3H,0

(4) Mg+H,80,-» MgSO, +H,

Assertion, A: A A= A G for an isothermal process in an ideal gas .
Reasoning, R: A U= A H =0 for an isothermal process in an ideal gas
(1) A and R both are correct and R is the correct explanation of A.

{2) A and R both, are correct but R is not the correct explanation of A.

(3) Ais true but R is false.
(4) A is incorrect while R is true.

Assertion (H9T) A : Toa v ¥ MRA N FRA oA = AG AR
Reasoning (HRUT) R ;: TR A § e I SRR AU =pA H=0 3R
(1) AIRRANEFENRA SRR SFFROR |

2) AIRRPNSFEMA SRR ITFROUTE R

(3) ATITRIRPE

4) ATEREIRR TR

Which of the following is incorrect match ?

Chemicals Used as
(1) D.D.Tis 2, 2-Bis (4-Chlorphenyl}-1, Insecticide

1, 1-trichloroethane
(2) P.D.B.is p-Dichlorobenzene. Fumigating soil
(3) B.H.C. is benzene hexachloride. pesticide
(4) B.H.C. is Benzene hexachloride Insecticide
A I Tord A ?

waaftE it IR N EET
(1) D.D.Tis 2, 2-Bis (4-3REE) -1, TGS
(2) P.D.B.Is p-SEFREIAE it 1 R T
(3) B.H.C. ¥ acivEs 3 | YR
(4) B.H.C.ANH SRS € | RE

17 P.T.O.
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35. Which one of the following is incorrect ?

37.

(1) PV = constant for isothermal change while PVY = constant for adia-
batic change.

(2) (9E/ V), is zero for an ideal gas.

(3) (3E/ V), = O for a real gas while it is a/v? for an ideal gas

{(4) At high temperature & low pressure a real gas will have (9E/ V), =0

T H A BN 1 T R 2

(1) PV Gwandt WRad ¥ e o AW o € sl pvy Yeaeies wRedd % faw w
T B 1

2) WA (GE/ V), =0 R}

(3) WaRRBINA(GE/ V), = 0 AT MG MR & (9E/ oV), = a/v? BT |

(4) SR IR FH T R G a1 (GE/ pV), = 0 A R

Which of the following is correct match for the basicity of the oxy-acids of
phosphorus ?

T Y B 1 PR ¥ Sid-ufie % et & YR ad i w27

HO- © OH
OH 0 NN\ S
H0~|P—~o H- IP—-O HO - P~ OH p P
H OH OH 0/ \(')/ \o
(HSPOQ} (H3P03) (H3P04) (HPOS)
(1) 1 2 3 1
2) 2 1 3 1
3) 3 3 3 2
) 2 1 0 0

Which of the following relations is incorrect for an ideal gas as per kinetic

molecular theory ? '

(1) P=[1/3V][Mc?}

(2) V=[RT]/Pif c?is replaced by 3RT/M

(3) RT =[1/4} [Mc?] for a hypothetical 4-dimension in which
c?=cl+cltc 2+, ?

4) PV ={RT/3][Mc?] for a 3- dimensional problem.

18
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T 3TeY i ¥ fre -l frem ¥ R AR Re g SR w e 7
(1) P={1/3V][Mc¥
(2) V= [RT]/P 3R 3R &Y g c2 N 3RT/M =i
(3) RT=[1/4] [Mc?] T il 4—foir & feqe v 3
c?=c2 +¢,2+ ¢ 2 +¢,2

(4) PV = [RT/3][Mc?) W& 3-fnfg & g

Which of the following is incorrect ?

(1) An ideal gas connot be liquefied unlike a real gas.

(2) An ideal gas can be liquefied like a real gas.

(3) Presence of internal pressure in a gas helps in its liquefaction.
{4) Molecular association is present in liquids.

I WA W T & ?

(1) U SR % Roda T o 1 s e & W )
Q) T 3Te T TR B A & S o e e WA R
(3) SiaRes T i ASE 5o S o TEEe B 3

(4) 5a ¥ STUfas YU ANE BN B

The incorrect match for the two volatile and completely soluble liquids, A &
Bis:

Law/description Equation
(1) Raoult'slaw P, =P X%, &py=ps %y
(2) Dalton's law of partial pressure P=p, +pg
(3) Total vapour pressure of solution P=p,x, + pg (1 -xp)
(4) Total vapour pressure of solution P=p°x, + pp X
QA qof ®Y Y YRt 7o ST 59, A TN B S R AR e A ® ?

fraw / ol wHiaoT

(1) TIee ¥ e ¥ e Py~ D0 %, 3R py=py 0%,
2) I W IRE T FEH P=p,+Dpg
(3) el &1 ol - P=pCx, + pl (1-xy)
(@) = o QU S-aE P=p0x, + pd X

19 P.T.O.
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40. Assertion, A : For the photochemical reaction : ¥ H, (g) + }4 Cl,(g) - hv—

41.

42,

HCl, the quantum yield is {d[HC1]/dt}/hv.

Reasoning, R : The reaction takes place due to the absorbed radiation.
(1) A and R both are correct and R is the correct explanation of A.

(2) A and R both, are correct but R is not the correct explanation of A.
(3) Aistrue but R is false.

{4) A is incorrect while R is true.

Assertion (%) A : TFR-HAE sflET H, () C1, (W) - hv—2 HCI %
fore Faren SaR AE § ¢ {d[HCY /dt)/hy

Reasoning ( &WUT) R : 3fifrr Qrd g fifimor & &ror 3 21

(1) AIRFNITTIAFRUR FFaIROE |

2) ARRFNIIFE A SRR ITFTROARE)

B ATIRERIREBE

(4) ATEEIRRTER

For a gaseous reaction, A — B + C, the rate of reaction is given by :

wiadHi sl : A > B+ C, ¥R A fism v g
(1) -d[A)/dt =~d[B]/dt=—d [C]/dt. (2) ~-djA]/dt=-d[B]/dt=d [C]/dL.
(3) ~d[A]/dt=d[B]/dt=d[C]/dt. (4} d[A]/dt=d[B]/dt=-d[C]/dt.

Which of the following is the correct match for H,- bonding ?
Valence bond (V.B) theory Molecular orbital (M.O) theory
(1) Both electrons spend their ime Each electron spends its time

around both the nuclei. around its own nucleus.

(2) Each electron spends its Both electrons spend their time
time around its own nucleus  around both the nuclei.

(3] Both electrons spend their Both ¢lectrons spend their time
time around both the nuclei around both the nuclei.

(4) Each electron spends its Each electron spends its time

time around its own nucleus around its own nucleus.
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FHAIPA W H, 90 5 A wdr e ana g ?
doiw wig Fraw ¥ srgEr vichieger Sifdffes Fem & saR
(1) M TR AT GHT & T TORH I T S &
e ¥ o 3R R € e % & IR foamr &
(2) Wk SOV 9 THY 319N QT GO ST T Qi &
& e ¥ T 3 frr & e % T IR o ¥
(3) BT SORIM TG T S & 2Rt TR STU TR B &
YR % T SR frra & =fféera ¥ T IR faam €
@)  TOF T I 9 e TS O ST SO 319 B

(1)

& T ¥ W O e # YT ¥ T AR e €

. Which of the following is true for the Bohr model of H-atom ?

Electronic motion is considered sluggish as compared to nuclear mo-
tion.

(2} Mass of electron does not appear in the kinetice energy of H-atom

(3} Mass of electron appears in the kinetic energy of H-atom.

(4) Reduced mass of electron and proton does not appear in the kinetic
energy of H-atom.

H-Yew & Sn-wifeer % g s adr € 2

(1) e I < o § o TR gE Rar e |

(2) H-YEH B TS S oEgH B A T R R

(3) H-Yem R i el H e e B R

(4)  H-YEq 9 Tiee-al 3 RN o SR o ST T S §

(1)
()
(3)
(4)

. Which one of the following is incorrect ?

The bond-order of He, is zero
The bond—order of H, is 1
Outer electronic configuration of all the inert gas elements is np® ns?.

QOuter electronic configuration of all the inert gas elements is np® ns?
except that of He,

21 P.T.0.
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FAHYTAMITT R ?

(1) He, I Sie-3eT I &1 &

(2) H, ¥ SE-3TeR U B #

(3) Hﬁﬁéﬂﬁﬂa“ﬂ'ﬂ@ﬁﬂiﬁﬂ?—ﬁﬂm np® ns? B §

(4) He ¥ e ot 72 ¥9 % 7 = sl - np® ns? Bard

45. a/v? of Van der Waals equation stands for the :
(1) internal pressure due to intermolecular interaction.
(2) gaseous volume which is neglected in an ideal gas.
(3) dipole—dipole interaction.
(4) Van der Waals force.

I S AN Fl a/v2 T &

(1) ohU—aE TERE B ¥ wRo e & dadem ?
@ ow o o aed i S WE

3) Teya-Tya wels B |

(4) T A B |

46. Which one of the following is the correct match for the elements and thei

isotopes ?
Elements Isotopes
(1) Carbon 12, BC & 1°C
(2) Hydrogen H, ?H & *H
(3) Oxygen 160, 70 & %0
(4) Chlorine 3¢, & 3l
F A g H A B W e T STEEIET % 9 T AW T e ?
a AT
(1) A 120, 14C A 15¢
Q) TESSA 1H, 2H &R 3H
3) sifediem 160, 170 @R 190
(@) T 35¢y, 3 %8Cl

22
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47. Which of the following is correct ?
IS W R?
(1) Cv=(3E/aT), &Cp=(2G/aT), 2) Cp=(oH/aT),
8) Cv={(0E/5V), &Cp=(oH/aT), (4 Cv=(8E/oV) & Cp=(3G/aT),

48. Which one of the following is incorrect for the gaseous reaction ?
(1) X,+3Y,o 2XY,is favoured by increasing the pressure ?
(2} X, +3Y,o2XY,is favoured by decreasing the pressure ?
3) X, +Y,& 2XY is unaffected by variations in presure.
4 2XY, o X, + 3Y, is favoured by decreasing the pressure ?

g ) s F R AR S e R ?

(1) X,+3Y,c 2XY, SYTW R T

() X,+3Y,o2XY, T@FFA RIGH S

(B) X,+Y,o 2XY TGO (FGVERI) H1 HE ST T8 o
(@) 2XY, o X, + 3Y, T4H A Rl ¢

49, The solubility product of AB is 1 x 107% Which of the following aqueous
solutions of B~ will give precipitate with 2 x 10~ M solution of A* ?

AB 1 RRami-T0R%E 1 x 101021 A*H 2 x 10-° M T ¥ 9 B-% I A g e
OIeT H 7T W ?

(1} 5x107M (2) 5x10°M

3 0.1x10°5M (4) 1x10°M

50. Which of the following is correet for the oxidation state of Fe inFe G,?

FAH YDA Fe,0, H Fe F SHiaimeor—reedn % ¥ v & 2
(1) 3/2 (2) 4/5 (3 5/4 (4) 8/3

23 P.T.O.
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51.

52.

SECTION - I
wuz - I
PHYSICS

(Marks : 150)

The dimension of torque is same as that of :

(1} Impulse {2) Momentum {3) Power {4) Energy
g P R T A R

(1) 3 I it wet ) &

(3) (@ S

If 4 =57+7 7 - 3 and g=27 +2 j —a i are perpendicular vectors.
The value of ais :

HR 3 =57+7 ~ 35 A F=27 +2 ] -a | TEqRATEN 2 AW
(1 7 2 -8 @ -9 4 6

The length of simple pendulum that makes 12 oscillations/minute is:

T R AeE N YR e 12 e e, rarad
(1) 2.5m @) 3.1m @] 6.2m 4 7.4m

Two masses of 1gm and 4gm are moving with equal kinetic energies. The
ratio of magnitudes of their linear momenta is :

130 3R 470 = 3 T THR TR I MR I W ¥ T g 9N F wiwmor
SR :
1) 4:1 2 2:1 @) 1:16 (4 1:2

A particle of mass 0.3 kg is subjected to a force F = - kx with k = 15N/m. If
it is released from a point x = 2cm., its initial acceleration will be :

(1) 0.5m/sec? (2) 1.0m/sec? {(3) 2m/sec? (4) 0.3m/sec?

24



56.

57.

58.

59.

10U/115/244i)

0.3 Rl 1 T FU W F = — kx & w1 & R k &1 HF 15 Fo/dflo ¥ 3R 39 x
= 2 Yotlo U Brer o & A o Wrifirs Tawor 2
(1} 0.5m/sec? (2) 1.0m/sec? (3) 2m/sec? (4} 0.3m/sec?

A particle executes simple harmonic motion with an amplitude A. The dis-
placement at which the kinetic energy is equal to twice the potential en-

ergy, is :
U 0 T STEE T A ST o &1 0 5 o R R 1 i i Rfee ot
H e, ] :

% W o

1) +A 2 = 4

@ =

N 3

A 0.4 kg football approaches a player horizontally with a speed of 15 m/sec.
The player strikes the ball with his head and sends it in opposite direction
with a speed of 22 m/sec. The impulse delivered to the ball by the player is:

T 0.4 Fillo 1 T 24T 15 Ho/lo o TR T AR T 4 1 el & T vgernr &1
et swe R ¥ AR e feer # 22 oo F 1 J e &1 faee gra i #
e v e &

(1) 9.2kgm/sec (2} 12.6kgm/sec

(3} 14.8kgm/sec (4} 16.2kgm/sec

The mass and diameter of planet are twice those of the earth. A pendulum

which works as a second's pendulum on the earth is brought on to the
planet. the period of oscillation on the planet is :

TF T8 A6 3 = ged e ol S g R T s W T W A
AT 6 TE TN T 8, TIF T8 T ST el o

(1) 2 sec (2} 2 sec 3) 2.2 sec (4} 4 sec

Total energy of a vibrating particle whose equation of motion is y = a sin ot
in given by :

T 1 IR LR GO M-SR y = a sin ot T T4, S5 goqd sl o

| 1 1 1
(1) 3 mw’y?  (2) 5 mwo?az (3 > mo? (a2 -v?) (4) 5 mo?y

25 P.T.O.
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60. If a stringis 1 m long and has a mass per unit length of 2 x 10 kg/m and

61.

is under a tension of 80 N. The fundamental frequency at which it will
resonate is :

TR TF HFT 1 Hlo Tl & IR T3 i iy 378 v 2 x 1073 o Mo/ o & iR 7%
80 7o TG H TEI I 1 et gty BT W T SgAriea B ;
(1) S8OHz (2} 100Hz (3) 160Hz (4) 200Hz

If a person can jump a horizontal distance of 3 m. on the earth and accel-

i
eration due to gravity on the moon is 3 of the earth, on the moon he will

jump upto a distance:

3 T A YR 3 o M T 7% T2 TFal 11 T W o R0 e ¥ R
v?r% T A Bl 9 S v W R ol o 5w

(1) 3m 2) 0.5m 3) 18m 4 9m

A satellite is to revolve the earth in a circle of radius 8000 km. The radius
of earth is 6400 km. The speéd at which the satellite is projected into orbit
is :

8000 frodto 2 firsa ¥ T ¥ ved % i 3lt TF STR A g1 81 7t ) B 6400
frotiio 1 =1 it orerd Suwre <h <heg 3 wayor e s, €

{1) 7.08km / sec (2) 9.82km / sec

(3) 28.32km / sec 4) 19.64km / sec

In a concave mirror, an object is placed at a distance x, from the focus and
the image is formed at a distance x, from the focus. The focal length of the
MIrTror is :

T SEae o R x, TR TS g T g © SR Su e o ¥ x, QR
I AP g R

{1) x_2 (2) T B)  VX-X, @ x +x

26
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67.

10U/115/244i)

A small fish is swimming at a depth d below the surface of water in the
pond. The apparent depth of the fish as viewed from overhead by an ob-
server is :

@@ﬁmwﬁqﬁﬁw%d e TS R W R oFR Yo TR F wae @

T AR T A T 3 Wt e e
d d 3d
n 5 @ 5 @ @ d

A diverginglensis used to form a virtual image of an object. The object is 80
cm to the left of the lens and the image is at the 40 cm to the left of the
lens. The focal lenght of the lens is :

g H Feaen v S ¥ O STRERS el YW BT B 9y Ot 5 9Ri 3R 80
Yorflo W TG g8 &, Foral 01 F T BN 40 orllo W 81 A I PFAGH R

(1) ——cm (2} -40cm B8 -60cm 4 -80cm

Two converging lenses are placed 20 cm apart. if the focal length of the first
lens is 10 cm and that of second lens is 20 cm, the final insage will be
formed at the following distance if an object is placed 30 cm in front of first :

2 R It 20 Yodlo = U W@ T E | 37 Pd 50 M 10 Jo Mo 3R 20
Yoo {1 S T TIeT 3 T 30 Fo Hlo T U T Tl K & 1 21w o Frer g e
M

(1) -30cm ) -6.7cm (3) -10.1cm (4) -60cm

A monochromatic light wave is travelling from one medium to another.
Which one of the following remains unchanged ?

{1) Velocity (2) Amplitude

{3) Wavelength (4) Frequency

T TR e T T A Y gE e TR #1 e 3 Y o omieie war €
(1) = (2) oTEm

@ wns @) o

27 P.T.O.
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68. In vacuum, the velocity of light depends on :

71.

(1) wavelength (2) frequency

{3) temperature (4) none of above
et ¥ veprer 1 3 R FT R

(1) e (2) e

(3) e @ SEFHIPE TS
The sky is blue. It is explained by :

(1) Raman effect (2) Rayleigh scattering
(3) DBohr's theory (4) Planck's Law
e e B 7 e g Y g |

(1 TFHE 2 Yo R

@) I W g @) <F W FEm

A lens of focal lenght 12 c¢cm is immersed in water (1 = 1.33). The new focal
length will be :

IR T T o B g 12 Voo &, Wl (n = 1.33). ¥ v T 1 s R
BRR g0 B ¢

(1) 36cm (2) 48cm 3) 12cm (4) 24cm

A proton of mass 1.67 x 10-%7 kg and charge 1.6 x 1071? ¢ is accelerated from
rest through an electric potential of 400 K V. Its final velocity is :

TF WeF RS T 1.67 x 10727 fioTlle A 3M& 1.6 x 10-1° Fo &, 400 Reo AT H
fovegar forwrer gy e e ¥ e fora e 1 sy et i AR

(1) 4.2x10°m/sec 2) 8.8 x 10°m/sec
(3) 6.4x10%m/sec {4y 7.2x 107 m/sec

28
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73.

74.
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The voltage across 101 F capacitor in the circuit shown in figure is :

10 1 F RT3 0 3 foer 3 oy "y Rwer 3t frepeiea 80T :

1 |

oV, T

I

L

I

]

o
=

=)

10pF] I
20pF

(1) 45V @ 9V 3) 3V 4 6V

A 120 V motor draws a current of 2A while lifting a load at a speed of 0.65
m/sec. If the efficiency for transforming electrical energy into mechanical
energy is 62%. The mass being lifted is';

T 120 AT T o1 TRl AR 2 S 3 ar g € 3R T 991 0.65 Wl #
TR {3 R SR At 9 g ot B i S F weer o g1 62% 1 A SRR
A AL ;

(1) 16kg (2) 23kg (B) 4lkg (4) S4kg

Equivalent resistance of the network shown in Figure is :

fer 3 Ry T WRaey = woge iR 2w

568

56Q

e 10 Q

(1) 11.8 o 2) 59q 3) 920 4 18.4 ¢

29 P.T.O.
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75.

76,

78.

A parallel plate capacitor whose plates are 2.5 cm. apart is charged to a
potential difference of 100 V. The force on a test charge of 1uC placed

between the plates is :

T TARR W R Rt wiwd 2.5 Joie A WE, 1 100 o F AR T
SRR R ST # | ol A 1 A Fo T 8 W o AR 9 8

{1y 04N ) 0.025N (3) 0.004N 4) 0.164N

A 100 W bulb works on 200 volts and another 200 W bulb works on 100 volts
for their normal working. Then the ratio of resistances of 100 W bulb to that
of 200 W bulbis:

TF 100 9 FI 200 AR T AR U 200 T HF Teq 100 AT T FE F@81 100
o1 % So9 F TRRM F 200 9 969 F WG J oo 2

(1) 2:1 ) 4:1 3) 8:1 @ 1:1

A coil of resistance 40 () is connected to a battery of 4 V. The current in the
coil is 63 mA after 0.1 sec, when battery is connected. The inductance of

the coil is :

40 ¢ Wy 9 T STl 4 Ao Y T I A e A T 81 RAI ST F 0.1 Yo TR
A & 63 fHosto o @Y TR B Fueah H W E ;

(1) 1H 2) 2H (3) 4H (4) 6H

The charge on one proton is 1.6 x 10-1? C. Bond length of HCI molecule is
1.28 A% Magnitude of electric dipole moment is :

T WEH W 3R 1.6 x 1019 Fo B1 HCI 319 ) 74 7 1.28 Yrgm @1 forge B
PUE IRk

(1) 1.6x107° (2) 205x102 (3) 1.28x10 (4) 2.05x 107

30
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Ratio of electrostatic repulsive force between two protons and attractive
force due to gravitation between them is

Nm? 1

[e=1.6% 107°C, m, = 1.67 x 107" kg, G =6.67 x 107 g7 7o — =9 x 10°
Nm?
|
A Ve ¥ d g foremior =t o oY St @ STEAE &
2
le=1.6x 1079 C,m, = 1.67 x 107 kg, G = 6.67 10—”1;'{?2 ,ﬁe—o =9 x10°
Nm?
|

(1) 1.25x10% (2) 2.5x10% 3) 4.2x10%2 (4 1.3x10%

The ratio of excess pressure inside a drop of water of diameter 4 mm at
209C to that of a-soap bubble of same diameter is [sufrace tension of water
and soap film at 20° C = 72.8 dynes/cm]

20°C THT W 4 oo =G % TFI A e ¥ Far o6 1 < oK Wi & S A &
TN % T FT I § (T IR W ¥ Tl e W 200C WS 6 = 72.8 SRV

YoTlo)
1 1:1 2 1:3 @ 1:2 @) 1:4

Which of the following is constant for light waves of diferent frequencies in
vacuum :

frrai ¥ fort maRrdt 3 v Al % R Fret 3 X R o o el &

L @ @ @ X

(1 :

A longitudinal wave connot be :
(1} polarized (2) refracted (3) reflected (4) diffracted

T e Tt T A e
(1) e 2) oTake @) Wl (4) fewivia

31 P.T.O.
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83.

87.

The specific density of gold is 19.3. If a crown made of pure gold, weighs 8 N
in air, its weight when it is submerged in water will be :

Tyl o1 TRTE T 19,3 R gxmmww@mﬂ TR AT 8 o ¥ A ITH WK
T o gE TR
(1) 6.59N 2) 613N  (3) 7.59N (4) 7.21N

The escape speed on the surface of earth is 11.2 km/sec. If the planet of
Saturn has a mass 95.2 times that of earth and a radius 2.47 times that of
earth, the escape speed on saturn will be :

Q‘aﬁﬂaﬁwwm 11.2 Rrotio o B1 9 78 9 Wi Tesit ot o1 95.2 TR ok
Tot <Y SR 9,47 YT & 9 U T TR A e«

112km/sec (2} 35.5km/sec (3) 71.0km/sec (4) 56 km/ sec

The sun's radius is 6.96 x 10® m and it rotates with a period of 25.3 days.
The new period of rotation of the sun if it collapses with no loss of mass to
become a neutron star of radius 5 km, is :

i From 6.96 x 108 Ao B 31 25.3 KA 3 adert I 9% g R1 TR ﬁﬁmﬁr
&3 5 o o 31 3 =2 AN ¥ aae W & 1 30 ¥OA & e et

{1) 1.5x10?days 2) 1.3 x10°%days
{3) 2.4x107°days [4) 3.2x107%days

The impurity atom with which the pure silicon shouid be doped to make a
p-type of semiconductor is :

(1) Phosphorus {2) Calcium (3) Aluminium - (4} Antimony
w5 foftram 3 9 1 o A e W p-RE 1 e T R

(1) HERRE (2) Hewrm (3) TEfmm @) TR

The average energy per unit area per unit time that reaches the surface of
earth from sun on a clear day is 1 Kw/m?. The energy collected by a solar
panel of dimensions 1 m x 2 m on a rotating mount is 8 hours of daylight
would be :

oF W B WG e A qae W age e sha o i s e si T we
R 1 Rpodro / Fo2 R1 q&%ﬁmﬁa TR AH I E I REIEL L Ho x 2 Fo F
AT 3 Tier Yer ¥ TRl Sl onl

(1) 16KJ @) 10MJ (3) 58MJ 4 69MJ
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88. A radioactive element has a half life of 100 sec. The original sample of the

89.

91.

element has a mass of 1 gm. The mass of the sample after 5 minutes will
be:

o At e 3t o Ay 100 o B) 7 5 TR TEN A A 1 WMo T 5 R F IR
T 0 T B

1

1 1
{1) T (2} g em (3) gm 4) 58m

-

The number of photon of ultraviolet light with wavelength 3 =3 x 107 m which
will have same energy as one gamma ray photon of 3, = 1.5 x 1013 m, is:

2 =1.5 x 1013 Ho TR ¥ T Bt Brem S R SR 7, o, = 3 x 107 Ho H
Toreed % YO Y 3% Bt So 3 Ber S @ Sl 9

(1) 3x10° (2) 2x 108 (3) 3x10° 4) 6x10°

In the hydrogen atom ground states the velocity of electron in terms of

c?

a=gis:
T WY ¥ Pt el w3 a=;—c sEEivmEw e
(1} o2c¢ 2) oc 3 2« {4 o’c

The rest mass of an electron is 9.1 x 10731 kg, The velocity of light is 3 x 108
m/sec. The energy of the electron is :

TR S RET A 9.1 x 10! fEoW # | YT F AT 3 ¢ 108 Wo/o ¥ TR A Il
el

(1} 9.1x1078J () 27.3x10%J

(3) 8.19x 1014 (@) 3x102y

33 P.T.O.
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92.

95.

5
One mole of a diatomic gas (cv = 5 R} and one mole of a monatomic gas (cv

= % R} are mixed together. The value of r ( = %] of the mixture is :

o 9 F & A (v = g R) 31 U &1 9 % v A (cv = % R) S 27w § fireman
S B RATF o (= %) = 9 BT ;

(1) 133 2) 14 @ 15 @) 167

The temperature in kelvin of which the average speed of H, molecules will
be same as that of N, molecules kept at 35° C, is :

et # 9 R 9 R H, SRl 9 oifa ik 350 C W ARdSH SRl S TEH B,
T

(1) 22°k 2) 42°k (3) 295°k 4) 312°k

A group of hikers hear an echo 3 sec. after they shout. If the temperature is
229 C, the distance of the mountain that reflected the sound wave is (sound
velocity = 331 m/sec) :

TR @ & Faeei W 3 Yo e S Wivea g 21 veka 9 < ey el vl
a8 @ E, B (A F R = 331 o)
(1) 471m 2) 520m  (3) 726m (4) 916m

An ambulance siren emits a note of 500 Hz when it is at rest. When the
ambulance is moving at 10 m/sec, the frequency heard by an observer
travelling at 15 m/sec toward the source is :

T TGOS R 500 &1 3 saft Ferrera & o e ReR 31 SR WeeRy 10 Hordo
Fr ey & = v & ok ww e 15 HoRo R A R B R MW E N NEF R

(1) 537Hz (2) 463 Hz {3) 491Hz 4) 516Hz
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A pipe is 2.46 m long and open at both ends. The fundamental frequency at
which it resonates is (sound velocity = 345 m/sec) :

TF T 2.46 Ho Tl € 3 3 R et &1 T o1 R W 9% oiiRe B
(S 9T = 345 Alo/Ho)

(1) 35Hz 2) 50Hz (3) 62Hz @) 70Hz

A certain particle has a kinetic energy equal to its rest energy. speed of the
particle is (c = speed of light) :

TR TF 0 A R Sooll S5 R ool & WR A SN H MR (c = WA )

_ 1 1 2
1y 3e 2 3ec 3) %—B-C @) J;

Binding energy for electron in singly ionized helium atom is (E, = 13.6 V) :

T TR & STEIPa SR WA RagH R T S § : (B, = 13.6 eV):
(1) E,/2 2) E (3) 2E, (@4) 4E,

0
The de Broglie wavelength associated with a proton moving with a velocity
1.5 x 107 m/sec [mass of proton = 1.67 x 1027 kg, h = 6.6 x 10*J sec]

1.5 x 107 Ho/Ro 1 7RI & T aret Wk MW J Frafaa < et o 3ok At (em i
A = 1.67 x 107 e, h = 6.6 x 1073 J sec) |

(1) 263x10Mm 2) 292x108¥m
(3) 3.24x10¥m (4) 4.06x107¥m
If the work function of a target material is 1.24 eV and the wavelength of

incident light is 4.36 x 10" m, the velocity of photo-¢electron is :

SR T e Ve 1 T O 1.24 eV & 3l e W 1 i 85 4.36 x 107 Hio
A PR — T A e

(1) 3.23x105m / sec (2) 4.14x 10%m / sec

(3) 7.43x10°m / sec (4) 8.21x10%m / sec
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SECTION - II1
gus - I1I
BIOLOGY
(Marks : 150)
101. Single stranded DNA is found in :
(1) tobacco mosaic virus (2) Dahlia mosaic virus
(3) Rous Sarcoma virus 4 ¢x174
T TG ST, IR S ©
(1) S Ao arm (2) orfoE ANE qRE |
(3) TST WRPE A A (4) ¢x174
102. Clear areas in becterial colony caused by phage particles are called :
(1) bactirio phages (2} plasmids
(B) plaques (4) prophages
YRt FretT ¥ Wt TiRRe % RO forere R B FR S R
(1) SRR 2 TS
(3 < (@) S
103. heterocyst is found in :
(1) ulothrix 2) chlamydomonas
(3) Peniciltium (4) Nostoc
TR TR
(1) Ieey 2) TEESHAN #
3) Wl 3 @) s ¥

104. Black-wart disease of potato is caused by
(1) Plasmodiophora brassicae (2) Synchytrium endobioticum
(3) [Peronospora viticola (4) Puccinia graminis

36



10U/115/24(i)

N ¥ N I (P Fherh) 1 FRS ar d

(1) ARSI S @ ok sariss

@) R @) R M
105. The juvenile stage of the moss plant is kniown as :

(1) prothallus (2) spore

(3) protonema (4) gametophyte

g () I i T ST P A W R

(1) Werw @ R (3) WA @) IR
106. False indusium is found in

(1} Riccia (2) Funaria (3) Pteris 4) marsilea

oo Seofim I S R

(1) FRrmn s 2) PR d 3) wRaH (4) urRdfeEn
107. Horsetail is the common name of :

(1) Equisetum (2) Ophioglossum

(3) Marchantia (4) funaria

F9YeD (Tee) Frga amm Aam 2

(1) THENEH (2) SHrAEH @) AR (4) PARE

108, A. gymnosperm having vessel is !

(1) Cedrus (2) Cyeas (3) Pinus (4) Gnetum

e e €

(1) W (2) WEHY (@) N 4 w
109, In coconmut fruit the milkey water is :

(1} free nucellar endosperm (2) cellular endosperm

(3) embryo (4} non-endospermic tissue
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aa ¥ v § e A
(1) ) g T
(3) T (4) I yedrafie g
110. Resin is obtained from :
(1) Malvaceae (2) Taxaceae (3) Pinaceae (4) Rosaceae
o W e ST 2

(1) "EERd (o) (3) YRR 4) WY

111. In which of the following categories of plant diseases biological control is
used generally : '

(1) soil borne (2) insect borne
(3) water borne {4) air borne
R B oy 0 ST SRR Hei W o5 ¢
(1) T (@) P
(3) Q3™ (4) o3 ST

112. An ATPis :

(1} an amino acid
(2} a helical structure
(3) is a high energy molecule which breaks down to ADA + Pi

(4) an enzyme

AR ¥

() U TR

2) U BfoTwer WEFR

(3) U IoF Al HETERIEl S ADA + Pi o1 ek &
(4) U TNIEH
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114,

115,

10U/115/24(i)

Which of the following structures is associated with asexual reproduction
in fungi :

(1} ascospore (2) basidiospore
(3} zygospore (4) conidia
Wi SR T AP H Y IR wEm T

(1 TSR () AR
(3) IR (@) @rifear

The casparian strip is found in:

{1) within the secondary wall of parenchyma cells
{(2) on four sides of endodermal cell

(3) between xylem and phloem cells

(4) Dbetween all epidermal cells

SR gy S ®

(1) Remem e ¥ Wrosh o F we
2) ToreHe Vet F =N AR

(3) Sgem wE Wl &t F ey

(@) W giede ¥ F 9=

Fuelgen staining is speciﬁc for :

(1) Protein 2) RNA (3) Lipids (4} DNA
e 3ffirv Bt €
(1) WRH 2) TR
() FeEy 4 dwuyg
116. Two similar holotypes are called :
(1} Mesotypes (2) Meotypes
(3} Syntypes 4) Isotypes

39 P.T.O.
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(1) AR 2) Prrrw

@) e @) e
117. The number of peristome teeth in Funaria capsule is:

(1) 8 ) 16 3) 32

HARE e W g A g R

1y 8 2 16 3 32

118. Multicellular jacketed femal sex organ of Bryophyte is known as :

(1) Archoegonium (2) Carpogonium
(3) Ascogonium (4) Oogonium
TEIHEE ¥ AeARGR Shes B S S S ¥
(1) ST (2) R
(3) TERRIEN (4) Smad
119. Resolving power of an Electron Microscope is :
(1) 1000 A° (2) 100A° (3) 10A°
T SoRgH TS 1 R R R
(1) 1000 A° (2) 100A° (3) 10A°

120. In Prokaryotes the ribosome is :

(1) 30S 2) 508 (3) 708
Verrlica ¥ Tz §
(1) 308 2) 508 (3) 708

40
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121. Bacteriophage is :
{1) Mycoplasma
{3) Spirochaete
IR
(1) S
(3) TR

122. Diatom shell is made of :
(1) Lime
(3) Calcium carbonate

SR ETETE

(1) T
(3) owEm wEte ¥

123. VAM represents :
(1) Saprophytic fungus
(3) Saprophytic bacterium
VAM g A1 € :
(1) YRR W
(3) EoireRRE Seifam

124. DNA is associated with basic protein like :

(1} Albumin
(3} Non histone

€. . U 3w W Y we |, S

(1) TgRH
@) M =

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
@

2)
(4)

(2)
(4)

(2)
(4)

10U/ 115/24(i)

Rickettesia
Virus

e
R

magnesium carbonate
Silica

Arilfeem FEFE
foftrm &

Symbiotic fungus
Symbiotic bacterium

fafaafes wry
feftdies IsiRaw

Globulin
Histone.

el
fewm
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125.

126.

127.

128.

The corolla of pea is

(1) Rotate (2) Ligulate

(3) Prilabiate (4) Papillionaceous

Gt T BRI :

(1) WRe (2 faE

@) et @ el

Nereis is found in :

(1) Pond (2) Forest

(3) Sea water (4) River

W frd g S R

(1) drem @ = (3 ¥R “ =
A very good example of serial homology is :

(1) Appendagesin Aphids (2} Appendages in Scorpion
(3) Appendages in Cockroach (4} Appendagesin Prawn
feferet QAT < T Sgd 3ToST S § :

(1) RS & S 2 Feg®sum

@) foergr ¥ Sum (4) mF I

Which type of mouth parts is found in mosquitoes :

(1) Spongingtype (2) Siphoningtype

(3) piercing and sucking type (4) Biting and chewing type
T ¥ R 9 e T S

(1) waf<rt 2Ry (2) UREHT IR

(3) T w ofF wmy (4) RN uE =g @
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130.

131.

132.

133.

10U/115/24(i)

Amoebiasis in humans is caused by :

(1) Entamoeba hystolytica (2) Plasmodium vivex
(3} Entamoeba ginglvalis (4} Paramecium auvelia
T H S fre gR S S

(1) Teeria it () eI TEIH

(3) U= SRk @) YuffrEm smafeen
Parasitic castration in crabs is caused by :

(1) Sacculina (2) 7Trypanosoma

{3) Trematodes {4} Fasciola

¥ % Yofies SR R gU S A R

1) W (2 fHEm @ ke (@) el

Peripatus is a connecting link between :

(1) Porifera and coelenterata (2) Platyhelminthes and annelida
(3) Annelida and arthropoda (4) Arthropoda and echinodermata
ey u Gafem 7 R

(1) T R S 49 (2) WERREE T T F 9

(3) UHerEr a9 gt ¥ = (@) STAGET T THEASH & A
The diploid chromosome numbe in human is :

e ¥ g TR e E

() 46 2) 44 3 48 4y 42

Giant chromosomes are found in :
(1) Drosophila {2) Grasshopper
(3) Humans (4) Mouse

43 P.T.O.
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134.

135.

136.

137.

ST O TN S R ¢

(1) St 3 ) TR

@ wEH @ RH
Archeopteryx was found is :

(1) Permian period (2) Jurassic period
{3) Cambrian period (4} Devonian period
iEARE g T o

(1) wEETFEH (2) FuRwp HeT 7

3) ¥ amd 4) feafr w=m
Sickle cell anaemia in humans is caused due to :

(1) Jaundice (2) Mutation

(3) Thyroidism (4) Diabetes

T ¥ e S T SeRor

(1) SiFew (2) TR (3) AREREH
Which one of the following is called as living fossil :

(1} Sphenodon (2} Crocodile (3) Calotes

g 3 ¥ Y S e T IR
1) ¥R 2) PRERA (3) Felfed

Pygostyle is present in the vertebral column of :
(1) Varanus (2) Rabbit (3) Frog
T e e W T T

(1) g @) T B W=
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138. Which one of the following is egg laying mammal :

(1) Echidna (2) Kangaroo (3) Bat 4)
Frfefigs o ¥ A9 =Rl R T R
(1) s (2) HTE (3) THNEE )

139. E. Coli is an example of :
(1) Eukaryotes (2) Prokaryotes (3) Coelenterates(4)

To TS Rererah ST R
(1) TRAE () WA (3) foameem )

140. Retrogressive metamorphosis occurs in :

(1) Amphioxus (2} Herdmania
(3) Balanoglossus (4} Petromyzon
iR YereRr e v S R

(1 THRTEEE (2 wEuFE (3) EMrEITEE (4)

141. Crossing over occurs during :
(1) Leptotene (2) Zygotene (3) Pachytene 4)

Rat

Molluscs

Diakinesis

(1) FEER# (2) TR # (3) AR # (4) SIS ¥

142, Theory of natural selection was proposed by :

(1) Darvin (2) Lamarck (3) Mendel (4)
ks 99 @ g e g .
(1) SRRW (2) A (3) ¥ed (4)

45
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143.

144.

145.

146.

Double helical structure of DNA was proposed by :

(1) Watson and Crick (2) Meselson and Stahl
(3} Jacob an Monod {4) Baltimore and Tennin
ST, F 9 R e e virufe forr

(1) 98 @ e (2) VEwH @ R

(B) SR T WS (4) MR T A

C.B. Bridges suggested the gemic balance theory for the determination of
sex in :

(1) Melandrium (2) Honeybee (3) Humans (4) Drosophila
Q. 4. o ¥ i Frafeor ¥ R ffre S =1 frgia fet
(1) ¥R () Wy (3 I ()  Grfee

In four~O'clock plants, when red and white flower varieties are crossed, F,
progeny show pink flowers which demonstrates the phenomenon of :

(1) Linkage {2) Codominance
(3) Dominance {4) Incomplete dominance

PRt W S e O W T A S o R e < sereh Wi 7 el
1 1 TN B N &) e SR €
(1) SEera 2) wewHfr @) e (4) 10 weTfer

Nucleotide is composed of :

(1) nitrogenous base + pentose sugar + phosphoric acid
(2) nitrogenous base + phosphoric acid

(3) Pentose sugar + phosphoric acid

(4] nitrogenous base + pentose sugar

YRRARIRIES & Bl 2 :

(1) TR Y + W2 PR + Fohfs e &
2) TR 3 + RS e A

3) YN PR + TRRE e N

(4) R RN IR A
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14°7. Which one of the following organs can be called as a sort of 'blood bank' for

148.

149.

150.

body's requirement :

(1) Lungs {2) Spleen (3) Liver (4) Heart
freafefaa % & fre o 2wl % 7 ‘e 95 SE M

(1) @ fret @ “ T
Hemoglobin is found dissolved in the plasma of :

(1} Humans (2) Frog (3) Birds (4) Earthworm
Sezea # gt SRraRe R :

(1) A @ ¥ @ v “ Fg
Urea is produced from ammonia in the body in :

(1) Liver (2} Urinary bladder

(3) Kidney (4) Blood

TR ¥ o A R T IO B e

(1) “FaH (2) HIEH 3) THH @ ERRH
Ilets of Langerhans are :

(1) small tubules in kidney {2) ductless glands in Pancreas
(3) present in Pineal gland (4) Present in liver

Y I AR B 2

(1) 95 3 B TR (@ R i war #

(@) e it % sefee @) IFa u SReE

47 10,000



10.

11.

12.
13.
14.

et & ferg fder

(3T yf@sr & F99 J1ET01 g3 YT 747 I9(—9F & gl goi av
Faer Hiei—ared aeT-@ge 47 @ & fora)

e gfiran e & 10 fie % ot § 3@ o f6 e § W 78 AR § o A%
¥ g1 A A g AN T IR W EE gE dwe S-fws S e
Ul YA W e QR e Y A
TN o H frerer R mav-uF & e, forar 1 v @Y f g S 9y
7 7 @
97— T @ 3T v 81 39 7 9t Mg Fiv 7 & famw H1 guw 39v-uF 7@ g wdim
HaeT IT—97 T & geaie [war S
37T STIFHAIS T STH-TT HI FHAIH FI9 M-8 T U9 ¥ faita wm w fed
IT-9F & ¥g% JB U7 47 @ AU FAPHAE [A9iia w7 9 ford aar 4 74 g9t &
MgT FT 31 TEI-] AAvaE 8 AF NYT-GAAST FT HWE TA G F TR I(AT @A
T forgd
o Qo 3o GF T ITHAIG WG, JyIYRasl aCar q de e (I B §) aar
FvIgliAsT 9T FEAiE T Ao Qo o ¥ WEW & WiAEYl ¥ uieET & agEi
T8 1
g wfavat & ®iF ot aftads s Flg® gro wfom g andd saa 98 ¢F Sqiaa
|G &7 FIT WA A
wyr—gfeder ¥ yiw 797 & = dwfeas I (44 w3 §1 s gv & dafcds I & g
ITH FA-TT & GG GlF & WA 73 79 g9 Hi SW-9F & F4H g6 7 138 74

e & argare 47 @ mer ww &

T&% T99 &% IR & O ot TF & 99 & Wel R G 9 A g F ma wH
T YA TF g9 H Y] TR W I IR Ted /= ST

a7 § 1% e @ @El g Al I GG 7@ 9 WA §1 S TG el Ty & I
72T 3 wmEd &, ot WAt afEr & e ol i @it gt & @reh giE 31 49 W W g
o 157 Trd

T Fd & AU TeA-R & TEUS & 3R a1 7o ad1 sa-IfRs & i g8
AT H

e & SN F97—GHasT TF Fav—g7 TeT waq § s & 2

TR T B9 ¥ Uee e Woe & SIEX I F SFEia T8 g

A ié vl Tt & srfad et @ g4 w8, 9 98 fovafame g fyita
dg F/%, WHll g/
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